Solids with Known Cross Sections Introductory Activity
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Students work in groups of 2 or 3.
Supplies:

One small eighth-sheet description for each group

Gives description of solid.
One half-sheet of graph paper for each group

Will contain base of solid.

Play-Doh individual packs 
Flatten out to create base of solid.
Try to scale the axes to make your base take up about half of the graph.
Plastic knives

Slice Play-Doh at boundaries to make base of solid more accurate.
Cardstock

Cut cross-sections out of cardstock and place into Play-Doh base.
Do about 10-15 cross-sections per solid (more cross-sections gives a more “solid-looking” shape).
Optional:  45( templates and 60( templates and/or compasses
Makes drawing 45-45-90 triangles and equilateral triangles a bit easier.
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R, the base of the solid, is the
region bounded by the graphs of…
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Cross‑sections perpendicular to the x‑axis are

semicircles with their diameter in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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equilateral triangles with their base in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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isosceles right triangles with their leg in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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Cross‑sections perpendicular to the x‑axis are

isosceles right triangles w/ their hypotenuse in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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R, the base of the solid, is the
region bounded by the graphs of…
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Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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equilateral triangles with their base in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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isosceles right triangles with their leg in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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Cross‑sections perpendicular to the y‑axis are

isosceles right triangles w/ their hypotenuse in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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R, the base of the solid, is the
region bounded by the graphs of…
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Cross‑sections perpendicular to the x‑axis are

semicircles with their diameter in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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Cross‑sections perpendicular to the x‑axis are

equilateral triangles with their base in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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R, the base of the solid, is the
region bounded by the graphs of…
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Cross‑sections perpendicular to the x‑axis are

isosceles right triangles with their leg in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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Cross‑sections perpendicular to the x‑axis are

isosceles right triangles w/ their hypotenuse in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).



	
	
	

	D1
R, the base of the solid, is the
region bounded by the graphs of…
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Cross‑sections perpendicular to the y‑axis are

semicircles with their diameter in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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Cross‑sections perpendicular to the y‑axis are

equilateral triangles with their base in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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R, the base of the solid, is the
region bounded by the graphs of…
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Cross‑sections perpendicular to the y‑axis are

isosceles right triangles with their leg in R
Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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	Cross‑sections perpendicular to the y‑axis are

	squares

	

	Create your solid using Play-Doh and paper.  Calculate its volume (Calculator okay).
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